Unit 3 单元检测 

(笔答部分) 

二、单项选择。（共15分，每小题1分）

21.  ------Don’t you want the nice cheap tie?

------No, I don’t want _____. Please show me ______.

   
A. it, another     

B. one, the other    
C. a pair, the other   
D. one, another

22. -----Why weren’t you at school today?

----- ______, sir.

A. No, I was     

B. yes, I was       
C. I was            
D. But I was

23. I don’t ______ him. He ______ be serious.

  
A. believe; can’t  






B. believe in; mayn’t  


C. believe; can    






D. believe in; must  

24. Not only I but also Jane ____ tired ____ taking the exam one after another

  
A. am; to        

B. is; of            
C. are; about       
D. be; with

25. I was about ____ when I saw him ____ towards me with a bag in his hand.

  
A. to leave; ran   

B. to leave; running   
C. leaving; running  
D. leave; runs

26. ---________ it is today.

-- Let’s go for an outing, _______?

A. How nice day; won’t               

B. How nice a day; shall we

C. What nice day; shall we             

D. What a nice day; will you

27. I was so angry at all ____ he said ____ I walked out. 

   A. what; that      

B. that; which       
C. which; that      
D. that; that

28. ---Do you think the weather is good enough for a field trip?

---Yes. You couldn’t hope for _____ day at this time of the year.

A. the nice        

B. the nicest        
C. a nicer          
D. a nice

29. The girl ____in red is a successful writer, who ____ Tom last month.

 
A. dressed; married                   

B. dressing; married to

  
C. dressed; got married with            

D. dressing; was married to

30. ---It’s so narrow. So they don’t allow ____ here.

---Yes. Oh, you’d better not smoke in the hall. The rules of the club don’t permit _____.

   A. to park; smoking                    

B. parking; smoking

   C. to be parked; to be smoked            

D. parking; to smoke

31. _____ to the left, you will find the path _____ to the park.

   A. Turn; leading                       

B. Turned; to lead

   C. Having turned; led                   

D. Turning; leading

32. ____ they all have in common is that they combine fun _____ the opportunity to learn something.

   A. What; with      
B. What; on          C. Which; with   

D. Who; for

33. The ____ boys were last seen ____ near the lake.

   A. losing; playing     
B. missed; to play    
C. missing; playing  
D. lost; played 

34. ---Justin kicked the ball into his own goal.

---Thanks ____ his stupidity that we got ____ as we had expected.

   A. to; twice scores as many              

B. for; as twice many scores 

   C. to; twice as scores many              

D. for; many twice as scores

35. My sister ____ singing ____ dancing while I would rather dance ____ sing.

   A. prefers; to; than                     

B. would rather; than; to

   C. prefers; rather than; than              

D. would rather; to; than
三、完型填空。（共30分，每小题1.5分）

阅读下面短文，掌握其大意，然后从1~20各题所给的四个选项(A、B、C和D)中,选出最佳选项.

As a child, I was truly afraid of the dark and of getting lost; these fears were very real and caused me some uncomfortable moments.

Maybe it was the strange___36___things looked and sounded in my familiar room at night that___37___me so much. There was never total___38___, but a streetlight or passing car lights___39___clothes hung over a chair take on the___40___of a wild animal. Out of the corner of my___41___, I saw the curtains seem to move when there was no___42___. A tiny sound in the floor would seem a hundred times louder than in the daylight. My___43___would run wild, and my heart would beat fast. I would___44___very still so that the “enemy” would not discover me.

Another of my childhood fears was that I would get lost, ___45___on the way home from school. Every morning I got on the school bus right near my home. That was no___46___. After school,  ___47___, when all the buses were___48___up along the street, I was afraid that I’d get in the wrong one and be taken to some___49___neighborhood. On school or family trips to a park or a museum, I wouldn’t___50___ the leaders out of my sight.

Perhaps one of the worst fears___51___all I had as a child was that of not being liked or___52___by others. Being popular was so important to me___53___, and the fear of not being liked was a ___54___one. 

One of the processes(过程)of growing up is being able to___55___and overcome our fears. Understanding the things that frightened us as children helps us achieve greater success later in life.

36. A. way          
B. time          
C. place          
D. reason

37. A. wounded      
B. destroyed     
C. surprised        
D. frightened

38. A. quietness      
B. darkness      
C. emptiness       
D. loneliness

39. A. got           
B. forced        
C. made           
D. caused

40. A. spirit         
B. height        
C. body           
D. shape

41. A. eye          
B. window       C. mouth          
D. door

42. A. breath        
B. wind         
C. air             
D. sound

43. A. belief        
B. feeling        C. imagination     
D. doubt

44. A. lay          
B. hide          C. rest            
D. lie

45. A. especially    
B. simply        C. probably        
D. directly

46. A. discussion    
B. problem       C. joke            
D. matter

47 A. though        B. yet           
C. although        
D. still

48. A. called        B. backed        C. lined            
D. packed

49. A. old          B. crowded       C. poor            
D. unfamiliar 

50. A. leave        
B. let           
C. order            
D. send

51. A. above        B. in            
C. of              
D. at

52. A. protected     
B. guided        C. believed        
D. accepted

53. A. then         
B. there         
C. once            
D. anyway

54. A. strict         B. powerful      
C. heavy           
D. right

55. A. admit        
B. remember     
C. recognize       
D. recover
四、阅读理解。（共40分，每小题2分）

阅读下列短文，从每题所给的四个选项（A、B、C和D）中，选出最佳选项
A

The Taj Mahal(泰姬陵) is a love story, a sad and beautiful one. If it didn’t exist, we would easily imagine that the story of its construction was simply a fairy tale. Three hundred years ago, there lived an Indian emperor called Shah Jahan. His wife was a beautiful and bright woman whom he loved greatly. Her title was Mumtazl Mahan: its shortened form Taj Mahan, means “pride of the palace”. In the year 1630 this beloved wife of the emperor died. He was so brokenhearted that he thought of giving up his throne. He decided out of his love for his wife, to build her the most beautiful tomb that had ever been seen.

He summoned the best artists and architects from India, Turkey, Persia and  Arabia and finally, the design was complete. It took more than twenty thousand men working over a period of 18 years to build the Taj Mahan, one of the most beautiful buildings in the world.

The building itself stands on a marble. Platform 29 meters square and 6---7 meters high. Towers rise from each of the four comers. The Taj itself soars another 61 meters into the air. It is a eight-sided building made of white marble.

The emperor planned to build an identical tomb of black marble for himself on the other side of the river connected by a silver bridge. However his son put him into a prison in the palace before he could finish, and for the rest of his life, he could only gaze across river at the tomb of his beloved wife.

56. The whole passage tells us about ______.

A . a beautiful fairy tale          



B. the story of the Taj Mahan  

C. white and black marble tombs made for two emperors

D. the love story of emperor Shah Jahan and his wife

57. Which of the following statements is NOT true about the Taj Mahan?
A. It was completed quickly owing to the efforts of the best artists and workers.

B. A lot of people took part in the building work.
C. It is a magnificent building.

D. It is a tomb for the emperor’s beloved wife.

58. The emperor’s own tomb was designed to be _____.

A. 61 meters high                 

B. eight-sided

C. black-colored                 

D. white-colored

59. The emperor _____________.

A. died soon after Taj Mahan died    

B. was killed by his son

C. was beloved by his people        

D. died after 1648

B

To become a doctor in the United States, students usually attend four years of medical school after they complete college. Then these young doctors work in hospitals for several years to complete a training program called a residency(住院医生实习期).

These medical residents provide hospitals with needed services in return for not much pay. They work under the supervision(管理) of medical professors and more experienced doctors. Medical residents treat patients. They carry out tests. They perform operations. They complete records. In hospitals with few nurses, residents also do work formerly done by nurses. Some medical residents work one-hundred or more hours in a single week. They often work for more than thirty-six hours at a time before they can rest.

Critics (批评家) of this system say medical residents work too long and do not get enough rest. They say these young doctors may be too tired to perform their medical duties effectively. Now, the government will limit the number of hours of work that residents can work. Most doctors in training will be limited to eighty-four hours of work each week. They will have work periods of no more than twenty-four hours at one time. They will have ten hours of rest between work periods.

Medical residents will have one day each week when they do not have to work. Any work they accept outside their hospitals will be limited. Experienced doctors and medical professors will closely supervise the residents to make sure they are not too tired to work.

Many medical residents welcomed the work limits. Others, however, said the new policy may interfere with patient care and their own medical education.

60. If a first –year college student in America wants to be a doctor, he has to wait for ___.

  
A．4 years   
B．8 years   
C．at least 10 years 
D．more than 20 years

61. Medical residents are not responsible for ____.


A．supervising students  


B．treating patients  

C．carrying patients  



D．doing operations

62. The underlined sentence in the 2nd paragraph means that they have to ____.

  
A．work 36 hours every week      
B．rest for 36 hours before they can go to work

  
C．work continuously for 36 hours  
D．take a rest every 36 hours

63. Why does the government limit the number of hours that residents work?


A．Medical residents get too much money. 

B．Medical residents should go back to school to study


C．There are not enough work for nurses  


D．Medical residents may make mistakes if they work too long.

64. The underlined word “Others” in the last paragraph refers to ___.

  
A．some critics                
B．some medical professors


C．some experienced doctors     
D．some medical students
C

Recent studies have shown that exercise is good to both your physical strength and brain. A new study finds that people become smarter after starting a running program.

In their study, the researchers had seven young people start a running program consisting of running 30 minutes, two or three times a week for at least 12 skills before and after the 3-month running program.

After 12 weeks of running, scores on all of the tests increased greatly in the runners, as did their reaction times(反应时间) in completing the tests, but the scores began to fall again if the runners stopped their training.

The results could have suggestions for old people as well. According to these researchers, old people who started a 4-month exercise program also showed it may help doctors find a way to use exercise and running to help old people and those with Alzheimer’s disease improve their memory and other mental skills.

65. What is the best title for this passage?


A．Running May Make You Smarter and Healthier   

B．How to Start a Running Program 


C．Running Is an Important to Improve Health       

D．The seven-Person Program

66. What can you infer from the statement that “the scores began to fall again if the runners stopped their training”?


A．The runners should continue their running exercise to keep the good results.


B．Some runners did not want to take a test again after they stopped their training.


C．The runners would not get scores if they stopped training.


D．The runners would have the same scores if they stopped running.

67. The researchers did tests both before and after the running program because ____.


A．they had enough time to do it.   



B．the scores would be higher


C．they wanted to make sure that all the runners would take to test  


D．they could compare the scores

68. The underlined word “their” in the second paragraph refers to ____.


A．the young people’s  
B．the researchers’  

C．the runners’  


D．the tests’   

D

He was a real big spender. He stayed at the best hotel and ate in the most expensive restaurants.

To the management of Disneyland Paris , he was a very welcome guest, even though he was only 12 years old．In the end, the police discovered that the schoolboy was living the high life on the ₤10,000 stolen from his father’s safe.

The boy, named only Lamine, had disappeared from the family hotel in Paris 10 days earlier. While police all over France searched for him, he was living it up at a ₤250-a-night Disneyland hotel. He went on all the rides and went on every other attraction in the place.

And when he’d had enough of Disneyland for a while, he paid ₤650 to hire a large and very comfortable car which is usually used by very rich or important people to take him to a park for a day. Then he was driven back to Disneyland, where he treated new-found friends to expensive rides and dinner. By the time the truth about him was discovered, Lamine had spent ₤7,000 of his father’s money.

69. What does the underlined phrase “High life” (paragraph 2) probably mean?


A．A way of living that involves spending a lot of money.


B．A way of living that is as good as that of other people.


C．A way of living that draws attention from the police.


D．A way of living that is envied by young and rich people.

70. Why was Lamine a very welcome guest of Disneyland Paris?


A．because he was only 12 years old．    

B．because he liked the riders in the Disneyland.


C．because he made the Disneyland famous 

D．because he spent a lot of money in Disneyland.

71.Which of the following statements is true?


A．Lamine moved from one expensive hotel to another with his father’s money.


B．The police began to search Lamine when they discovered that he stole his father’s money.


C．Lamine was found ten days after he left his parents.


D．Lamine had made some new friends and went to a park with them.
E

Signs in Chinese will be set up in public areas, such as airports, to benefits Chinese travelers, the Italian Government announced in late February, 2005. Now many European countries are expected to follow the example.
Despite the different languages, traveling across Europe has never been so simple. Just five years ago, if you wanted to visit Germany in the north and Spain in the south in one trip, you had to wait for weeks to apply for different visas from the two countries. You also need a calculator because both countries had different money.

Today, with a Schengen Visa issued by any member countries, you can travel across 15 European countries without stopping. Since 2002, within most of the EU, there is now just one type of money in the Euro. The Euro was designed to be the only money in the EU, and makes it easier to shop around. If you drive, your driving license and car insurance police are valid in the other countries. And you can use your mobile phone everywhere.

All the countries in the continent are melting into a united Europe under the EU. For Europeans and visitors the result is that it is more convenient to travel back and forth between the countries.

72. What does the writer mean by saying “Now many European countries are expected to follow the example.”?

A．More signs will be set up for Chinese in European countries.

B．Chinese is now an important language in Europe.

C．More Chinese people will travel across Europe.

D．More Europeans have a desire to know more about China.
73. What is the purpose of writing the text?

A．to praise the tourism policy in the EU.    

B．to introduce the tourism conditions in the EU.


C．to encourage us to travel across Europe. 

D．to suggest the world be melted into one like the EU.
74. Why has traveling in Europe become easier compared to five years ago?

A．because you need not drive a car on your own.

B．because you can use a calculator to exchange money.

C．because applying for different visas is much simpler.

D．because one visa is good enough for a number of countries.

75. What can inferred from the story?

A．The Euro is the only money used in the EU now.

B．Chinese has become an important language in Europe.

C．An increasing number of Chinese tend to travel to Europe.

D．It is always necessary to unite many countries into one.
五、短文改错。（共10分，每小题1分）

此题要求改正所给短文中的错误。对标有题号的每一行做出判断：如无错误，在该行右边横线上画一个勾；如有错误（每行只有一个错误），则按下列情况改正：

该行多一个词：把多余的词用斜线划掉，在该行右边横线上写出该词，并也用斜线划掉。

该行缺一个词：在缺词处加一个漏字符号，在该行右边横线上写出该加的词

该行错一个词：在错的词下划一横线，在该行右边横线上写出改正后的词。

Last month we bought our two-year-old daughter a little         76._________

   dog. There are not many children of her age there we live,        77._________

   and we thought a dog would make her less alone. We were        78._________

   right. They play together happily all days. Our daughter now     79. _________

   smiles and laughs a lot more than she used. In a way it          80.__________

   is like having two children in the house. All of them are         81.__________

   very untidy, but they cry when they do not get what they        82.__________

   want. The dog is easy to look after than my daughter.           83.__________

   He always eat up his food and we don’t have piles of           84.__________

   dirty clothes to wash. My wife is also happy because of         85.__________

   I have given up smoking. The dog doesn’t like the smell
六、书面表达。（25分）

21 st Century Teens Edition 正征集有关2008北京奥运会志愿者（volunteer）的资料，请根据下面提示发一封E-mail 介绍自己的情况。

1. 名叫李华，现年17岁，就读于黑龙江一重点中学高一。

2. 喜欢英语，利用业余时间观看英语节目，练习英语口语，并取得了很大进步。现在已能流利地和学校的外籍教师交谈。

3. 爱好体育，正学习有关体育运动的俗语（terms）。

4. 希望成为一名志愿者，为北京奥运会做出贡献（contribution）。

注意：1、应包括以上要点，但不要逐字对译，要组成一片通顺连贯的短文。

2、字数 约 100。

3、Email 的格式已给出。

TO: Jackliu@21stcentury.com.cn
Subject: self-introduction

Dear sir,

__________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________ 

___________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________

Unit 3  单元检测(笔答部分) 参考答案与提示
二、21. 选A  it是指代上文所提到的nice cheap tie，one是泛指；another是另一个的意思。The other是两者中间的另一个。

22. 选D 这个是一个特殊疑问句，所以不用yes和no来回答。为什么你今天不在学校？但是我在的啊。

23. 选A  believe sb.是相信某人的话，believe in sb.是信任某人；can’t 是否定的推测。我不相信他所说的，他肯定不是认真的，是开玩笑的。

24. 选B 就近原则；be tired of 是厌倦做某事。

25. 选B  这个是固定句型。Be about to do。。。when 正要做某事突然。。。

26. 选B  前面是感叹句，后面是附加疑问句，让我们去。。。，好吗？指包括自己在内的，用shall we。

27. 选D  all that he said 是他所说的话；后面的that是句型so。。。 that。。中的，“如此。。以至于。。。”。

28. 选C  否定加上比较级有最高级的意思。在一年的这个时候，没有比现在更好的天气了。

29. 选A  be dressed in 是“穿着。。。”这里是过去分词短语做后置定语，可以换成定语从句，the girl who was dressed in red。。。；和某人结婚，marry sb. 或者是get married to sb.

30. 选B  allow 和permit都是允许的含义，但是permit比allow更加正式。

31. 选D  逗号前面是现在分词短语做状语，后面是现在分词短语做后置定语。

32. 选A  前面是由what引导的主语从句；combine。。with。。把。。和。。结合起来

33. 选C  失踪的男孩是the missing boy；看见某人正在做某事是see sb. doing 

34. 选A  thanks to 是幸亏由于的意思；倍数的表达可以把名词紧跟在倍数的后面。

35. 选A  prefer doing to doing 宁愿做某事而不愿做；would rather do。。than do也是此意。
三、36. 选A  这个句型是强调句。根据下文来判断，虽然是熟悉的房间，但是在晚上看起来和听起来却是那么恐怖。
37. 选D  使某人惊吓，其它的意思都不对。

38. 选B  房间里总是有亮光的，并不是处于完全的黑暗中，紧接着就有街灯和过往车辆的灯光的提示。

39. 选C  这个是make sth. do 的结构。get sb. to do 使某人做某事；force sb. to do 是强迫某人做某事；cause sb. to do 是导致某人做某事。

40. 选C  灯光使堆在椅子上的衣服呈现出一个野兽的形状。

41. 选A  从眼角看，表现出作者非常害怕的心情。

42. 选C  作者看见窗帘在飘动，但是又没有风。

43. 选D  她越想越害怕，想象已经像脱缰的野马。

44. 选D  从文章来看，显然是她躺在床上。作者一动不动，生怕被“敌人”发现。

45. 选A  孩提时代另一件害怕的事情是迷路。

46. 选C  早上在家的附近乘校车没有问题，但是晚上回家的时候会害怕，出问题。

47. 选A  按照上下文理解应该是“尽管”的意思。放学了尽管所有的车都在那里，但是害怕上错车。

48. 选D  line up 是整队，排成一列的意思；pack up是把...打包, 整理；call up召唤, 使想起, 提出, 打电话给

49. 选B  被带到一个不熟悉的地方。

50. 选A  let 是使役动词，不让领队的人离开视线。其它的意思不确切。

51. 选A  above all首先，最重要；in all 总共；at all是根本 

52. 选D  最害怕的是不被别人喜欢和接受。

53. 选A  then 表示在那个时候，也就是小时候。

54. 选B  powerful是强大的，有力的；strict 是严格的。

55. 选C  在成长的过程中，先要认清自己的害怕之处，再去克服自己的恐惧。recover表示恢复或者重新获得，在这里意思不对。 admit是承认的意思。

四、56. 选B  整篇文章是由泰姬陵展开的，虽然也是讲述国王和他妻子的爱情故事，但是还是属于泰姬陵的爱情故事。

57. 选A  这个题目属于细节题，泰姬陵是花了18的工夫建成的，不能用quickly。It took more than twenty thousand men working over a period of 18 years to build the Taj Mahan, one of the most beautiful buildings in the world.
58. 选C  这是一道细节题。The emperor planned to build an identical tomb of black marble for himself on the other side of the river connected by a silver bridge.
59. 选D  国王不是在妻子死后立即死的；被儿子投进监狱；文章没有提到被人民爱戴；他的妻子是在1630死的，陵墓造了18年，所以至少是在1648年后死的。

60. 选C  从第一段可以推算，To become a doctor in the United States, students usually attend four years of medical school after they complete college.上完大学需要4年，大学毕业还要继续上4年医药学院。Then these young doctors work in hospitals for several years to complete a training program called a residency(住院医生实习期).这个时候还不能立即成为医生，还要在医院实习。所以这一项比较合理。
61. 选A  从第二段可以得知，These medical residents provide hospitals with needed services in return for not much pay. They work under the supervision(管理) of medical professors and more experienced doctors.实习生是在教授的管理之下。

62. 选C  划线句子的意思是：他们经常在休息之前一次性工作36个小时。at a time 一次。

63. 选D  根据第三段可以知道。Critics (批评家) of this system say medical residents work too long and do not get enough rest. They say these young doctors may be too tired to perform their medical duties effectively.
64. 选D  从最后一段可以得知Many medical residents welcomed the work limits. Others, however, said the new policy may interfere with patient care and their own medical education.
65. 选A  这篇文章主要是通过跑步来证明它可以使你更加灵活和健康，而不是阐述如何开始一个跑步计划，也不是讲跑步的重要性，也不是讲七人计划。

66. 选A  从第三段可以看出来，After 12 weeks of running, scores on all of the tests increased greatly in the runners, as did their reaction times(反应时间) in completing the tests, but the scores began to fall again if the runners stopped their training.
67. 选D  从全文可以推断，跑步计划前后都要统计分数，为了测试跑步带来的不同。

68. 选B  从第二段可以知道，In their study, the researchers had seven young people start a running program consisting of running 30 minutes,
69. 选A  从第一段知道这个孩子住最好的宾馆，吃最贵的饭店，过着高消费的生活。

70. 选D  从第二段可以知道他是最受欢迎的因为他偷了父亲的钱在那里肆意挥霍。

71. 选D  从下文可以判断，这个开销大的人就是Lamine
72. 选A  本题主要考察对句子意思的理解。根据上一句“Signs in Chinese will be set up in public areas, such as airports, to benefits Chinese travelers”可知本题的正确答案选A。

73. 选B  本题主要考察对作者的目的，意图的理解。

74. 选D  本题主要考察对原因的理解。通过对文章第二段和第三段的比较，可以看出本题的正确答案选D。

75. 选C  本题为推断题。主要考察对欧洲国家仿效意大利在公共场所使用汉语标志来方便中国人的旅游的理解。
五、1. 正确  2. there改为where    3. alone改为lonely

4. days改为day   5. used后加to  6. All改为Both

7. but改为and     8. easy改为easier

9. eat 改为eats    10. 去掉of
六、One possible version
Dear sir,

The 2008 Olympic Games will be held in Our capital, Beijing, which is a great honor for all the Chinese. I hope sincerely to be a volunteer to make contributions to this great event. Below is a brief introduction about myself.

I am 17 years old and now studying in a key middle school in Heilongjiang Province. I like English very much and I’m quite good at it. I watch English programs in my spare time and often practice my spoken English. Now I can talk fluently with our foreign teachers. Besides English, I am also fond of sports. To be fit for the job, I’m studying some special terms about different sports.

I hope I can meet the requirements of being a volunteer.

Yours,

Li Hua
